multico.tsp

freq n;
smpl 1 5;
e

?

?

load y; 13 4 8 9 6;
load x; 4125 3;
load w; 8 2 4 10 6;
print y x w;

corr y x w;

olsg y c x w;

?

?

?

load x; 4.01 125 3;
print y x w;

corr y x w;

olsg y c x w;

?

?

?

load x; 4.051 2 5 3;
print y x w;

corr y X w;
olsqyc xw;

end;

. VIF

VIF

?

? VIF

?

olsg x ¢ w;

r2x = Q@rsq;

vifx = 1/(1-r2x);
olsg w ¢ x;

r2w = Q@rsq;

vifw = 1/(1-r2w);
smpl 1;

print vifx vifw;

x> ex3-3.tsp

ex3-3multico.tsp

end

VIF
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3. Excel
3 ex3-3.xls
2
(R
CE YD
ex3-3sc.xls
E 1 e(t-1)
19 E 2 20
F e(t)-e(t-1) F26 = C26-E26
G e(D-e(t-1) 72 G26 =F26"2
H e(t)”2 H25 =C25"2
G H
)
e(t) e(t-1)
X 1 Yi*, Xt*
Y& Xt
b a 1-p
2
)
e(t) e(t-1)
X 1 Yt*, Xt*, Zt"
Yt Xt*, Z+" 0



4. TSP

Excel TSP
ex3-3sc.tsp

freq a;

smpl 1983 2002;

read(file="h:ex3-3.csv") Date ce yd ydl;
?

?

?

olsq ce c yd;
ste=@res/@s;

graph date ste;

?

?p

?

olsqg @res @res(-1);
ce2=ce-@coef*ce(-1);
yd2=yd-@coef*yd(-1);
olsqg ce2 c yd2;

?

? ARL

?

arl(method=corc) ce c yd;
arl(method=ML) ce c yd;
end;

Excel
AR1

hetero.xls 27

LM het. test
Y/X 1/X
freq n;
read(file="h:hetero.xIs");
print y X;
graph x y;
olsq y ¢ x;

ste=Q@res/@s;
graph x ste;
yy=y/x;
xx=1/X;

olsq yy ¢ xx;
ste=@res/@s;
graph xx ste;
end;



